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Answers

1. 173

2. 612

3. 310

4. 46

5. 139

6. 230

7. 298

8. 588

9. 562

10. 184

11. 870

12. 597

13. 106

14. 739

15. 720

16. 145

17. 436

18. 43

19. 489

20. 426

Find the value of the variable.

1) 992 - B = 819 B = 173

2) 359 = C - 253 C = 612

3) E + 516 = 826 E = 310

4) F = 899 - 853 F = 46

5) 971 - G = 832 G = 139

6) 511 = H + 281 H = 230

7) J + 572 = 870 J = 298

8) K = 151 + 437 K = 588

9) 332 = 894 - L L = 562

10) 963 = M + 779 M = 184

11) 66 = 936 - N N = 870

12) P = 654 - 57 P = 597

13) 40 = Q - 66 Q = 106

14) R - 164 = 575 R = 739

15) S = 590 + 130 S = 720

16) 85 + 60 = T T = 145

17) 312 + 124 = U U = 436

18) 574 + V = 617 V = 43

19) 992 = 503 + W W = 489

20) 541 - 115 = Y Y = 426
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Find the value of the variable.

597 230 298 612

310 870 184 139

173 588 562 46

1) 992 - B = 819 B = 173

2) 359 = C - 253 C = 612

3) E + 516 = 826 E = 310

4) F = 899 - 853 F = 46

5) 971 - G = 832 G = 139

6) 511 = H + 281 H = 230

7) J + 572 = 870 J = 298

8) K = 151 + 437 K = 588

9) 332 = 894 - L L = 562

10) 963 = M + 779 M = 184

11) 66 = 936 - N N = 870

12) P = 654 - 57 P = 597
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1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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